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[ADDDBN]
if val(g991%7)=1 then Buf(+7TW1#), (if SUf(+5T',g991°@,)<>" then &uf(+7U1# &uf(+5T', g991°@,) ) else
1 break fin/(G1)) fi

[ROWQRY]
BUF(+7TW2# (BUF(+5TCIKLD.mnu))), . (if G2<>" then, &uf(+7W1005#,G2), if &uf('Ag99148#1)<>" then
uf(Ag991"8#1") '*'fi,,,, "CIKLD="&uf(AG1005#1")," fi/)
[FLDMODE1000]

B 1000*A - yukn

8 1000*E - O unm V
BUF(+TWE3H), &Uf(+7TW3#, (Ruf(+5TCIKLD.mnu))),.... &uf(+7WAOH if
&unifor(IPRIVATE,DATFINOS, )<>" and val(&unifor('3)) > val(&unifor(IPRIVATE,DATFINOS, ")) or
&unifor(IPRIVATE,DATFINOS,’ ind val(&unifor('34'))<9 then 'V else if
&unifor(IPRIVATE,DATFINOS, )<>" and val(&unifor('3)) < val(&unifor(IPRIVATE,DATFINOS,) or
&unifor(IPRIVATE,DATFINOS, )=" and val(&unifor('34)>8 then 'O’ fi i),...(if p(G3) then

"A'G3,,,"E' &uf(AG40#1") fil),,,,,
4 [FLDTEXT]
nognone A nona 1 yukn
nognone C nons 1 HassaHue Lpkna

/2 HaumeHoBaHuii 6e3 aHanoros
BUFC+TWATHE,,, f(rsum( (if p(v891) then if &uf(+97' v691s)=8uf(+97",&uf(AG1000*A#1") then if (
Buf(Ag991"O#1')=" or v691"0=" or &uf
then if ( &uf('Ag991"V#1')=" or v691"

T DISC Hripopmarin 5.2 (Mrh2)

I DISC Mrdpopuaia 4.3 (Mid3)
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